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| What do I need to be able || Peuwords |
| to do? | | Gradent: the steepress of a Ine |
I | 1 intercept: where two Ines cross The y-ntercept: where the Ine meets the y-axs :
: By “gomd of this ””Itt You should be abe to: : : Paralet two Ines that never meet with the same gradient |
| mﬂﬁﬁ %ﬁf:pfs | | Co-ordinate: a set of values that. show an exact postion on a graph |
| o st nd (s i+ || Linear: Inear graphs (straght Ine) — near common difference by addtion/ subtraction :
: *  Find the equation of a e from a araph : : Osymptote: a straight Ine thal a graph wil never meet |
| ° lerpret gradent and ntercepts of red- | | Reciprocal: a pair of numbers that mutiply together to gve. | I
| Megaphs I Perpendlcular two lnes that meet at a right ongIa :
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: Lines paralel to the axes @ ol the ports on th ne hae I l Pbttm y=mx+cgas @ :
: A Y410 a x coogdrite of 10 y=3x-1 3 xthe x coordnate then— | |
E |
| o1 1 | x [-3/o0f3 Draw a tadke to dsplay ths
I | I a1 Lines paralel 1o the y axis take the form x I y |-0[-1] 8 } nformation :
htersecton | | | I P ] = a and are. vertical I
| ports \\; T — Il This represents a coordnale. par :
| Lines paralel to the x axis take the form y Il ¢3-0 |
| it '\ = 4 and are horizontal ” i |
I ST TS Qitreports nths e have e (3,-2) (7,-2) (2,2 1l “; Vool reed Vapors g |
I . N ay coordnate of -2 ol lay on ths ne because the 1 9 strdight ire I
L _ I (.. ... S | d I
——————————————————————————————— A |
Compal' e Gradients S I s Plotting more ponts helps you decide
: 2 y=2x The greater the 05&&5\ I h if your caculations are correct (i :
l y=mx+c o gradent — the steeper o Il mE Y TEe [ theydo moke astraight ine) |
| i Y3 the Ine. S0y I: I
|
I \ ] 1 I
| Thecoefficient of x (the  7° ° 72777 * * 5 ':I“%X’4 /lé%%& [l Remermber to jon the poits to make |
| rumber in front of x) tels us 4 Povalelines have. the e 1 alne I
| the gradent of the ine o same gradent 4 1 ] |
|____________'3 ___________________ I e s |
P = ———— i L 1
| Compare Intercepts y — px +c TI““tI’e ofostheporta ) Y=MX*C The equitionof aine. | |
| 02 e “ieh the ne crosees the y- | The coefficient of x (the number in front con be. rearranged Eg | |
: n Y o Yiteroepl ot ) tels us the gradent of the e y=c*me :
|
I \. y3x The coordinate of ay intercept | : A ‘_Th& valve of ¢ is the point at C=y—m I
I vill akicus be. (Oc) I Y| = mx + € Fibeh the ine crosses the y- | entiy wheh coeffient | |
| . |I A axs Y intercept you are dentiyrgor [ |
| _% - Lines with the same y- | : y and x are coordnates companng |
I :?j II’ItUCE-P[CfO‘SSII’Itmsm ='=='======'========'=======.:ll
: / E: \0_4) e I: Rwl H:e a
________ PP HY plumber charges a £25 callout fee, and then £1250 for every hour.  / 1he y-ntercept shows the
_______________________ Complete the table of values to show the cost of hiring the plumber. minimum chorga
I Time (h) 0 1 2 3 8 The grodient represents the
:l Cost(E) | €25 £125 prce per mie
y=2x+1 |I I real ife. graphs ke this values wil alwaus be positive because they

|| Medsure dstances or obects which cannot be negative

[l Direct Proportion agropts  To represent drrect proportion the araph must stard dt the orign

A box of pens costs £2.30
Complete the table of values to show the cost of buying boxes of pens.

When you have 0 pens

this has 0 cost

Boxes

0

1

2 3 8

The aradent shows the

Cost (€)

£2.30

price per pen



